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A X-X+X-X+FX-Y=x2+ %2+ xy=2x3+xy

b) 2:-x-y+x-y+y-y=2xy+xy+y?=3xy+y?

€ X-X-2-X-y+y-y=x2-2xy+y?
dyc+c-d+d-d+d-c=c+cd+d?+cd=c+d2+2cd
@) s-t-3+2-s-t+t-t=3st+2st+t?=1t2+5st

1 1 1 1
f) x-y-i—fy-x=§xy—§xy=0
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a) 2b-(b-a=2b-b+a=b+a
b) 7e -(4+3e)-15=7e-4-3e-15=4e-55
1 2P 2
9 2p+(5a-5+a)-zp+3a-3p+3a-q
d) 2f-(g-f+3g+25)=2f-g+f-3g-25
=3f-4g-25
e) a?+a-(3a?+5al=a?+a-3a?-5a=-2a’-4a

7

a) 3b+3a b) 0

c) 2a?-2b?2+3b d) -2b2+6b

e) -14s2+7s f) -Mg?2+9g

g) -s2+6s h) -7a2+5a
13

a) 4x+4y=4-(x+y)
b) 2x +xy=x-(2+Yy)
€) 2xy+4xz=2x'(y+22)
d) 2ab+4a2=2a-(b+2a)
e) x2-xy=x-(x-vy)
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